COMPUTER ARCHITECTURE APPENDIX 5

E. Appendix 5 — RAM Implementation
The following example is a RAM with “no change” policy

entity rams_no_change is
port ( clk - in std_logic;

we :instd_logic;

en - in std_logic;

addr :in std_logic_vector(7 downto 0);

di . in std_logic_vector(15 downto 0);
do . out std_logic_vector(15 downto 0));

end rams_no_change;
architecture syn of rams_no_change is

type ram_type is array (0 to 255) of std_logic_vector (15 downto 0);
signal RAM: ram_type;
begin

process (clk)
begin
if clk'event and clk ='1' then
if en ='1' then
if we ='1" then
RAM(conv_integer(addr)) <= di;
else
do <= RAM( conv_integer(addr));
end if;
end if;
end if;
end process;
end syn;
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